TS e RERENRTH) - US 3. 1434
SCIENTIFIC ASSISTANT ( CHEMISTRY) — POST NO.1434

1. Ucdlleh 5 X?% gR1 UfafAfded fbu Siaret fobedt ded & u=mmo] & ieti, =il aul seiagiHl o
T BIR: oo Gl
The number of protons, neutrons and electrons in the atom of an element represented
by the symbol 2X?7 respectively

(A) 82,289 & 289
(B) 82,125 & 82
(C) 125,82 & 82
(D) 82,207 & 82

2. fafefed st & @ fraw wum qruT) a7 S iy @ we1 et 87

In which of the following pairs, the first atom or ion is not larger than the second
(A) Fe*, Fe¥

(B) O,S

(©) N,O

(D) CI,ClI

3. Yguuee At & Jay H AEffad syt & Q@ 19 91 9t 22

Which of the following statements regarding covalent compound is true
(A) YR 3% TaHIH qUT HYIDH 3 Bid &
They generally show high melting and boiling points
(B) HIURUGHT 3y g &
They are generally non-polar
(C) WYRUH [degd Harci® ad &
They are generally poor electric conductors
(D) 93 & ¥U H fagaH 8id §

They exist as ions

4. Fofafed el # & HH-1t faemm T8 2

Which of the following molecules does not exist
(A) CIFs

(B) PFs

(C) NCls

(D) AlFg*



5. a=b=c &1 fohcd U G&Y .................... # faegm 21

The crystal parameter relation of a=b=c exist in
(A) PEaié/Rhombohedral

(B) fawHeana/Orthorhombic

(C) (A) @1 (B)aHi/Both (A) and (B)

(D) Tl Gl TEl/Neither a nor b

6. BOH)3 T ... gl
B(OH)z is a:

(A) &Rd/Base

(B) UH&RDIY 3&i/Monobasic acid
(C) fe&RaI 3/Dibasic acid

(D) TA&RPIT 3t/ Tribasic acid

7. e & forg HRUT ST S g Tt 3 ¥ s RR g1

The divalent ion is more stable than tetravalent ion for
(A) Sn
(B) Si
(C) Ge
(D) Pb

8. oo & fo 0-0 RIS gt o g
The O-0 inter-nuclear distance is lowest for
(A) O
(B) O
(C) Oy
(D) 0>

9. fgfafad sl & @ o9 W1 ufddasig 87

Which of the following ions is diamagnetic
(A) N2
(B) Oy
(C) Bex*
(D) NO*



10. OF & JATEY DI ................... gl
In OF2, the bond angle is

(A) 109.5°
(B) <109.5°
(C) 180°

(D) >110.9°

11. ATIFNRB 3T & el T BT 81 db e B UR AR, BT gl

On heating orthoboric acid to red hot condition, the residue is
(A) dRIH/Boron

(B) dRTa/Borax

(C) IR siiegs/Boric oxide

(D) HeraiRe 3fd/Metaboric acid

12. TeCls ¥, el AT H .o g gl

In TeCls, the central atom involves

(A) sp® IdRu/hybridization

(B) sp®d IdRul/hybridization

(C) spd? Hhu/hybridization

(D) Sudad ¥ 9§ TH i 781/None of the above

13. forft I @t wum, fgcdta qu it Sma=iasRur St HHR: 7, 12.5 dU142.5 eV §1 39 dd
DI Y FRR ARG 3ARAT ... B |
The first, second and third ionization energies of an element are 7, 12.5 and 42.5 eV
respectively. The most stable oxidation state of the element will be

(A) +1
(B) +2
(C) +3
(D) +4



14.

15.

16.

17.

i feame U o g fored & forddt 90 &1 TR G@HID oo gl

Miller indices of a plane in cubic crystal as shown below is:

(A) 132
(B) 246
(C) 623

(D) Iwdad § ¥ U +f TET/None of the above

RATUGH BIEGIo BIIHRY YSTRIES B ... o gerdr g1

Atomic hydrogen reduces phosphorus pentoxide to
(A) P

(B) P20s

(C) HszPOs

(D) PH3

gy Al & SR, fodll TR B18X CH g HebTelt SHee & iU ... SaaeH/Al
BT AT HRAT g3 T ordl g |

According to Wades’ rules, each CH unit in a carborane is assumed to contribute ------
no/nos of electrons to the skeletal bonding

(A) 1
(B) 2
€ 3
(D) 4

Iminodiacetate anion is a

(A) UdhcR Hadl/Unidentate ligand

(B) fecqR Hawil/Bidentate ligand

(C) AR T/ Tridentate ligand

(D) Sudad # ¥ T i &/None of the above



18. FrufeRad gaaei~e T=gun § ¥ o1 91 gaifie faggd 4Ted Id & giid Bl 87
Which among the following electronic configurations refer to the most electropositive
element

(A) [He]2s!
(B) [He]2s?
(C) [Ne]3st
(D) [Ne]3s?

19. T fawe sififeran 8, fSH 0,U% %1 URAY] U He G- & A=l & §lG faue gRI
Xel3qYr Sr% e &) Wl H ded ST §, ST B .o gl
In the fission reaction in which an atom of 5,U?, after absorption of a slow neutron,
undergoes fission to form the two fragments, Xe!3 and Sr®, the particles produced are

(A) 3=ciH/neutrons

(B) 3dicI $Ul/beta particles

(C) 3 TUehT HUl/alpha particles

(D) SuYad # ¥ T ot 781/None of the above

20. Fafafaa shsl 7 9 {5 hiehT faeaa gRT ugamT off I 82
Which of the following pairs can be distinguished by Fehling solution?

(A) DI qUT haeisl/Glucose & Fructose
(B) @I aYl H/Glucose & Mannose

(C) whacIS quT gehia/Fructose and Sucrose
(D) W Tl ¢ /Maltose & Glucose

21. UTefiATSS T RIS ST Bl R IR T o gopar g |

Anthranilic acid can be synthesized from phthalimide by

(A) ®fcaq gAd=am/Curtius rearrangement
(B) foe gAfd=am/Schmidt rearrangement
(C) @IS gAfd=ami/Lossen rearrangement

(D) BIHAM YHId-aRI/Hoffmann rearrangement

22. TSI Fo= SHUIHAT ... HIfE TR BT ST Bt g |

Aldol condensation reaction follows ........ order kinetics
(A) TYH/First

(B) fgdia/Second

(C) qdra/Third

(D) =™/Zero



23.

24,

25.

26.

i g Fufafed B 9 for il R anre siffsrarsii 9 ToRdr 8|
Phenanthrene undergoes addition reactions preferably at which of the following
locations?

(A) 1,2
(B) 3,4
(C) 56
(D) 9,10

3TfUge gd™: 97 g/mol ¥ o bt TebH & SRIAR! b el & JAGIA! D1 HB
................. g

The number of isomers of dichloro derivatives of an alkene with (molecular mass: 97
g/mol) is

(A) 2
(B) 3
€ 4
(D) 6
WHAfR® sageRIf fdum= siftifrar & faw siffpaar ST a8 &9 ... g

The correct order of reactivity towards aromatic electrophilic substitution reaction is,
(A) TRRF > YRHHE > ORid > afm
Furan > Thiophene > Pyrrole > Benzene
(B) YR > R > IR > 9™
Thiophene > Furan > Pyrrole > Benzene
(C) <f<H > YA > R > fiRkid
Benzene > Thiophene > Furan > Pyrrole
(D) RIS > ®RE >YRIBH > df

Pyrrole > Furan > Thiophene > Benzene

9 OifsgH AuiaTgs & 91y Iu=Rd far Sirar g 99 Fafiad 7§ 3 & 91 U d gass
P Uh 3P UchT IAIG BT ST PR Jbal gl

Which of the following alkyl halides can produce only a single alkene product when
treated with sodium methoxide?

(A) 2-&Rl/chloro-2- ARYE U=e-/methyl pentane
(B) 3- &Rl/chloro-3-34Tsd U=e/ethyl pentane

(C) 3- FRl/chloro-2- AfYd U=cH/methyl pentane
(D) 2- FRI/chloro-4- ARYE U=-/methyl pentane




27. Fafafaa 9iftie & for feedm wanfirdia gHge Tva 87

How many geometrical isomers are possible for the following compound?

H;C Br
Br CHj3;

(A) 4

(B) 5

(C) 6

(D) 7
28. FafiRad 9ife & T YIS FTHH .o e

The order of boiling point of the following compound is

i. 1-919Td/1-Propanol i, AUTeRITA-/Methoxyethane iii. n-sgA/ n-

Butane iv. WU-cl/Propanal
(A) i >iv>ii > iii
(B) iv>ii>iii>i
(C) ii>i>iii>iv
(D) iii >i>iv>ii

29. Fafifad Aifie! § 9 fam Wafes 87

Among the following compounds, how many are aromatic?

CH;
(A) 1

(B) 3
€ 2
(D) 4



30. frafoRaa ufvadH sifferar o forg uged foram o ST e H® ................. e.

Reagent that can be used for the below conversion reaction is?
/CHO /\/CHO

(A) dil. NaOH /A

(B) H20/H*

(C) alc. KCN

(D) conc. H2SO4

31. 93R HfHHHD b 1Y HTRITHI0 TR SMSANBAAST oo IAT BT

Isoquinoline on oxidation with Baeyer’s reagent will give

(A) %ad A 3f/Phthalic acid only

(B) dwilsar 3t Ul RMffe 3fi/Benzoic acid and Cinnamic acid

(C) oad RwIPRIM® 3f/Cinchomeronic acid only

(D) A 3na aur RFHIRIA® 3 gHi/Both Phthalic acid and Cinchomeronic acid

32. A g S &1 Th ISR g
The reaction given below is an example of
COOEt
COOEt NaOEt o
COOEt

(A) Udsia dg=-/Aldol condensation

(B) Hra-sid Hu=-/Knoevenagel Condensation
(C) ST3hHM u=-/Dieckmann condensation
(D) TRydArE Ta=/Acyloin condensation

33. Fafafed Aol o SHERT siflifshar 31 &R & Sfavig! v H H afyd $Y |

Arrange the following compounds in the decreasing order of rate of Cannizzaro’s

reaction
o o] 0
i H)J\H i, D)J\D il T)J\T
(A) i>ii>iii
(B) ii>iii>i
(C) i=ii=iii
(D) i>ii=iii



34.

35.

36.

frafaRad 9ifite & grgsrad Jai (1, 11 a1 111 & ¥ § 3ifdhd) & STURYG A&f01 BT g1 v H

............................. BT
Correct order of basic character of hydroxy groups (marked as I, Il and IIl) in the
following compound will be
I OH
OH
I1I
OH
I
A) I1>1>11
B) Hn>l1>1
© u=>1>1l
D) m>I1>1Mm
fafaRad Aff® X, Y qUT Z & IR B 0eT FU oo gl
The correct statement among the following compounds X, Y and Z is
COOCH;, COOH COOH
H—1 OH H—F—OH H————OH
H—1— OH H——1——OH HO———H
X. COOH Y. COOCH; 7. COOCH;

(A) X & Z smfafdet ffaw Tamagd /X & Y are diastereomers
(B) X & Z ufafda®=ug/X & Z are enantiomers

(C) X & Y ufafda=u /X & Y are enantiomers

(D) X &Y IHET /X & Y are identical

fafofea 8 9 &F a1 3ife Saae-RIT arTs sifNforar & ufd sifdies sifforar=ita gm?
Which of the following compounds will be more reactive towards electrophilic addition
reaction?

®) e

© —\COOCH;

(D) o



10

The mechanism of the following transformation involves
HO

0 0 NaOH
+ )j\ — = HO OH
H,0
H H H
(Excess) OH

(A) TASIA T qUT BRI AfNifesar

Aldol condensation and Cannizzaro reaction
(B) UQ SId Fu T aetoH-Rie ifdfesar

Aldol condensation and Claisen-Schmidt reaction
(C) AN Tu=H quT HieIRY 3ififspar

Knoevenagel condensation and Cannizzaro reaction
(D) TS GG qUT iR Sffsar

Stobbe condensation and Cannizzaro reaction

10



11

38. P IR fafaRaa sifferanssl &1 oy ... ATl
The following sequence of reactions on P gives:
(0
NH, Br, / NaOH
OMe Heat
(0

[P]
o o
(A) o (B) o)
o
N
(©) 0 (D) o

39.%Améi$mﬁﬂ5é?mwﬁm%|aﬁBm&rUguRM%a‘rAaﬂa{uguw
................. |

The vapor density of a gas A is twice that of a gas B. If the molecular weight of B is M,
the molecular weight of A will be

(A) M
(B) 2M
(C) 3M
(D) M/2

40. z1 AMI YT 22 AM2 9T &) Tl B M1 # M2 3R Z1 # 72 §, Afhd M1-Z1 = M2-Z2 g
DA TG oo gl
In two elements z1 AMand z2 AM?, M1 #M2 and Z1 # Z2, but M1-Z1 = M2-Z2. Then
these elements are

(A) THIZ Aeh/Isotones
(B) ¥HHIR® URATTY/Isobars

(C) IHRATH®/Isotopes
(D) JeicRl gfaerad/Isodiapheres

11



41.

42.

43.

44,

12

SHM m dYUT 2m & a1 HUN DI Tfae SHold JHM &1 TP & S TECH o &
U H |

Two particles of masses m and 2m have equal Kinetic energies. Their de Broglie
wavelengths are in the ratio of

(A) 1:1

(B) 1:2

(C) 12

(D) +2:1

0.01M NaCl faea= &t aradbdr 0.00145 S/cm B afe Iudad faera= & 100m| Tt sifafead
TEQITT ST & T TTEBAT oo

Conductivity of 0.01M NaCl solution is 0.00145 S/cm. What happens to the
conductivity if extra 100ml of water is added to the above solution?

(A) gt g/Increases

(B) ®cdl 8/Decreases

(C) srufkafda &t 8/remains unchanged

(D) UBA Fad § 3R fhR ged g/first increases and then decreases

forht Yea guanfes ot orufg 4 €2 §1 afe 39 quenfe &1 URMA® Soqd 2009 € o 24
Hel & SIG AN IGaTal GHHH, FoRIBT & TG, oo gl

The half life of a radio isotope is 4 hours. If initial mass of the isotope is 200g the mass
remaining after 24 hours undecayed is

(A) 25

(B) 6.25
(C) 3.125
(D) 125

foft 9 1 Cp/Cv=1.3 3| TS ITHT TRHTY] UR x § Al ITHT 310] YR a1 gm?

A gas has Cp/Cv=1.3. If its atomic weight is x, what will be its molecular weight?
(A) x

(B) 2x

(C) 3x

(D) Sudad ¥ ¥ T AT 8l/None of the above

12



45.

46.

47.

48.

13

3 Icdl, A TUT B, HT URHTY] YR HHTT: 40 AR 801 ACAF x g H y RUUU LA & dl B H
2x g o frat TRHTE Jufyd 87

The atomic weight of two elements A and B are 40 and 80 respectively. If x g of A
contains y atoms, how many atoms are present on 2x g of B?

(A) yI2
(B) y/4
©) vy
(D) 2y

10 g BTISIOH TUT 64 g STaIS &1 ST & & fopait U | WRT TR 3R SqHT fawpie foar
11 39 ST H SUa UMl BT HAET ... Gl

10 g of hydrogen and 64 g of oxygen were filled in a steel vessel and exploded. Amount
of water produced in this reaction would be

(A) 49™ 3Tymoles
(B) 39 3U/moles
(C) 29 3MU/moles
(D) 6 9™ 3{uymoles

?&ﬂéﬁ@rwﬁhwwa@ﬁﬁﬁoo nm 8| 3 TR Bt SAGRT TUT T TReAT fobeit
?

Light emitted from a lamp has a wavelength of 600 nm. What is the frequency and wave
number of the light?

(A) 5x10' st and 1.66 x 108 m™
(B) 1.66 x 107 st and 5x10%* m*
(C) 5x10%®s? and 1.66 x 107 s
(D) 1.66 x 10°m™ and 5x10'® m™*

n-g94 &1 HYAIP 36°C g1 g HHHR % 98 T3 T o1 SIERUI FHRl 8, ISP dr% Bt
Y3 ST BT bl DIl |

The boiling point of n-heptane is 36°C. Estimate its molar heat of vaporization
assuming that it obeys Trouton’s rule

(A) 27.2 kJ mol*
(B) 3.1 kJmol?

(C) 2.27 kJ mol™
(D) 31.0 kI molt

13



49,

50.

51.

52.

14

2.5 L 3dH & Big I HI TG 27°C T4 1 SR 316 W g | A9 &1 R 34 gU 3¥ 500
ml 3Ta I FUifSd fasar Srar g df ara & gHare Uia=id 3 e 2l

Avolume of 2.5 L of a gas sample at 27°C and 1 bar pressure is compressed to a volume
of 500 ml keeping the temperature constant, the percentage increase in pressure is

(A) 100 %
(B) 400 %
(C) 500 %
(D) 80 %

TABCT AT BT TD TTH 3] ..o TS BT IgH Bl 5

1 mole of sulphate ions carries a charge of
(A) 48,250C

(B) 96,500 C

(C) 1,93,000C

(D) 3,86,000C

fafefad Srupsfi o1 Ore UHSHUE Tl & SHaRIg! hH U TaRYd D

Arrange the following molecules in order of decreasing standard molar entropy
(A) CH:Cl> CHCI3> CHsCl

(B) CHCIz> CH.Cl>> CHsCl

(C) CHCl>> CHsCl > CHCI3

(D) CHaClo> CHCl3= CHsCl

fordt 4q % Q) HTeaTgST H HH: 50 %3 40 % o1g M 21 S TuH aIES H1 G MO2
g, O fadia arss BT g o BT

Two oxides of a metal contain 50 % and 40 % metal M respectively. If the formula for
first oxide is MO2, the formula of the second oxide will be

(A) MO

(B) MO3
(C) M20
(D) M205

14



53.

54.

55.

15

gs@m@@rwmﬁnﬁ AR e FHuff 122.4 eV g1 ot FafaRad & 4 o a1 wel
9

A hydrogen like atom has a ground state binding energy 122.4 eV, then which of the
following is true
(A) TS UATY] WE&AT 1 g/Its atomic number is 1

(B) 90 eV HT H1s BicH I TR SHoll B AT I IWAToId B Tabell §
A photon of 90 eV can excite it to a higher energy state
(C) 80 eV HTHIs BITH IU ITAR Holl P AR I Iaford g B Tl

80 eV photon cannot excite it to a higher state

(D) Sudad ¥ ¥ T i 7€l/None of the above

350 K @7 25 atm TR Ig-dTat 28.0 g N2 719 &I latm & fRR Se1 &6 §RT GHANT 0 9
TIRd B a1 ST 8 1 39 3% &1 fad SR ¢q” &1 uR&bad Hifoe|

28.0 g of N2 gas at 350 K and 25 atm was allowed to expand isothermally against a
constant external pressure of latm. Calculate the net heat transfer ‘q’ for the gas.

(A) 27951
(B) 2.795]
(C) 27.5861J
(D) 275.6J

‘@’ TS & fopddl T (@gfada) U § 57 °C TR CO Pt 2 UTH U TH T8 &1 3 71 & 34t
AIHH W “2a° TET8 & gk Hes-R H Y dRe RIMdRd fasar oirar g | T8 Id gu & a8
UfohaT ISShAUT § 3R a8 719 SMTeRT 3Rl BT §, TSl § Sf-aTd URad &1 URaber
HIfoT |

2 mole of CO is contained in a cubical vessel of length ‘a’ at 57 °C. The gas was
completely transferred to another container of length ‘2a’ at the same temperature.
Calculate the change in entropy assuming that the process is reversible and the gas
behaves ideally.

(A) 34.58 JIK
(B) -34.58 JIK
(C) -11.53 JK
(D) 1153 J/K

15



16

56.WW&TXW4%WW$2%W$WQW%|xao‘r&m
HR s I
A 4% solution of a non-electrolyte X is isotonic with 2% solution of urea. The
molecular weight of X is?

(A) 30
(B) 60
(C) 120
(D) 180

57. pH=2 aTeT ®1s faaa pH=5 a1 fr<t e 9 ... T 31fA 3t g |

A solution with pH=2 is more acidic than a solution with pH=5 by a factor of
(A) 3
(B) 12
(C) 300
(D) 1000
58. Feh-Ip Ul UishdT & fore Tihfae I8 & A1y fFafafed & 4 fog firamn smar g2

Which among the following is added to natural rubber for the vulcanization process?
(A) "em/Sulphur

(B) WINHIRY/Phosphorous

(C) Uy sffRTgs/Aluminium oxide

(D) ®Ia-/Carbon

59, SHATZE oo gl

Bakelite is

(A) TUIR{l/Epoxies

(B) =g 6/Nylon 6

(C) WAIa-wIHasIggs RF/Phenol-formaldehyde resins
(D) ifei/Poly (arsfd Tebslar/vinyl alcohol)

16
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60. IEADI & IR B B T HY TAd 872

Which statement is wrong about polymers?

(A) I3 o] & &0 H Ugad far ST ¥ebdl 8/They can be used as adhesives
(B) T dgad wid-3Uucd g/Some of the polymers are biodegradable

(C) 31! TTeHI® did 8/They have sharp melting point

(D) et Uha® B! IgADIHRU Uihdl T3 5 HH-YU-HH 2 B FHRIieIHdl AT

A functionality of minimum 2 is required for a monomer to undergo

polymerization

61. DI T WP 368 B TRIAAD Gf-Ic 8l Javdl 6?2

Which can be the repeating unit in natural rubber?
(A) Trans 1,4polyisoprene

(B) Cis 1,4 polyisoprene

(C) Cis 1,3polyisoprene

(D) Trans 1,3polyisoprene

62. BIATEH oo P THAD g |

Caprolactum is the monomer of

(A) AEa/Nylon 6, 10
(B) -TgdH/Nylon 6, 6
(C) =rgd/Nylon 6
(D) -rgai/Nylon 10

63. Ufd-guff el BT IUANT B §T Tgeied el B AATT DY o HEd 3|

Manufacturing polymer sheets using counter-rotating rolls are called
(A) Hdted I=H/Compression molding

(B) igRul/Calendering

(C) 3ic:&9ur ¥a-/Injection molding

(D) Ycd-/Lamination

64. {3t dgcidh &1 Hid HHU AMY .............. aR1 Fuifed T8t fovan S w@an|
Glass transition temperature of a polymer cannot be determined by
(A) SITEE/DSC
(B) SITHY/DMA
(C) Y TMA

(D) TITHIR/NMR

17



65.

66.

67.

68.

69.

18

CRNEARIES RS 115118 L S =S, I Taifda g

The term ‘unzipping’ in polymers is related to ---.
(A) URH/Initiation

(B) T=RUI/Propagation

(C) HHIUA/Termination

(D) fdagae-1/Depolymerisation

?@ﬁaﬁwﬁﬁw%%wﬁmﬁm%lﬁﬁaﬁﬁ ..................... T ATl
|

‘Geometry of the pendant groups are all on the same side of the polymer backbone’
such polymers are called as

(A) SfTdRI/Atactic

(B) THgIRI/Isotactic

(C) Uik gaRI/Syndiotactic
(D) TR dgcib/Chiral polymers

A 20.22 BT WSF 3 ... gl
Significant figure in the value 20.22 is

(A) 3
(B) 2
€ 1
(D) 4

faemm & ufa diter & fach= facra um srgst &t S=m @l ... FEd 5l

Number of moles of solute dissolved per litre of the solution is
(A) UH3MUrad/Molality
(B) udm™Er=gdr/Normality

(C) wUmH3{Uhdl/Molarity
(D) fasiaar/Solubility

AF 3 f[Aaa &1 SUANT HRd gU fordt &R [aaa & Mhe @ ... Fed gl

Estimation of an alkaline solution using standard acid solution is termed as
(A) &RfAfd/Alkalimetry

(B) smarSifffd/lodometry

(C) favafhfda/Potentiometry

(D) srfffd/Acidimetry

18



70.

71.

72.

73.

19

AT frT S TR CaC204 MTafed 8 ST 8 S o I BT §

CaC,04 decomposes on heating which gives
(A) Ca(OH)2, CO, dyr/and CO

(B) CaO ayr/and CO. HTH/0only

(C) CaO, COzdyr/and CO

(D) CaO dyr/and CO #HTH/0only

& ST SR B Fe 2* 3T SR Fe 3* SR b1 SEIAH YR faera o rf Sififoman
B 1 STl § | DI AT X AT T BT g1 SIL?

Fe 2* ions and Fe ** ions were allowed to react with ammonium thiocyanate solution in
two separate beakers. Which one will give deep red colour?

(A) Fe 2" "H/0nly

(B) Fe 3 @m/0nly

(C) Gl e aTd T & &1 SIgil/Both will give deep red color

(D) I TT8Y A1 W1 & g1 gl Sidfl/Both will not give deep red color

o fe=art sifiretics gamar iraT 82

Which is known as Hinsberg reagent?

(A) THfedaeqe/Acetylacetonate

(B) Wifeuy yrdgethe/Sodium thiosuphate

(C) Sf<H Ieh!a FRIgS/Benzene sulphonyl chloride
(D) SfRTge®HMES/Benzenesulphonamide

500 ml 9=t § faeie 60 g NaOH &t I3[ farat 8Ifl? (Uit &t Ju=ar 1g/cc §)
What is the molarity of 60 g of NaOH dissolved in 500 ml of water (density of water is

1g/cc)?
(A) 15

(B) 0.75
€) 2
(D) 2.5

19



74,

75.

76.

77.

78.

20

fit 100 m fa@a= &} EmRIEr 0.1 81 0.05 THMHRIdT ¥ gad faaa= Ui & & fag
3R fara 31fdes smaa sfea 82

Normality of a 100 ml solution is 0.1. How much more volume is required to obtain a
solution of normality 0.05?

(A) 200 ml
(B) 100 ml
(C) 50ml
(D) 150 ml

fofifed # 4 o1 I T gud T8 87

Which among the following is not an indicator?
(A) TICTRPH WRATE/Potassium permanganate
(B) WHiawrifeH/Phenolphthalein

(C) Hid ¥8/Phenol red

(D) BRYA 3iRwl/Methyl orange

x-Te=n & (2,-1) fdg W Tas z = x° + y° + 5y* S yaurdr fasa-it gii?

Find the slope of the surface z = x3+ y3 + 5y* in the x-direction at the point (2,-1)
(A) 4

(B) -4

€) 2

(D) -2

[(2) i] & ST T gl

Eigen values of [2 3] are
(A) 2&3
(B) 2&4
(C) 3&4
(D) 3&0

GBI y2-8X-6y-23 = 0 BT AP ..o o1 gl FHRar 1
The graph of the equation y?-8x-6y-23 = 0 represents

(A) 3ifdurderd/Hyperbola

(B) crdg/Ellipse
(C) et X@rsii &1 Se1/Pair of straight lines
(D) URdcd/Parabola
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79. f<ht SIEUEH T od &1 ATed gRf 200 cm B TUT IUHT TAIHR IR HI &1 T 6 cm

80.

213U E B [ aRe WA & AU 3mawass Ut &1 S (ce H) T faraT gRm? A
oo i ITepT fawdr =& gl

A bicycle tube has a mean circumference of 200 cm and a circular cross section of
diameter 6 cm. What is the approximate volume of water (in cc) required to completely
fill the tube, assuming that it does not expand?

(A) 300~
(B) 1200
(C) 1800
(D) 2400 =

R A e C @ fargit g8 &t g e @, St safed B &1 g &t gt g8+ 81 C @t
A A B I B 1/3 (T fieTS) ¥ S B @1 T 1 1/2 (3mem i 81 3 3 U & I e
= H & dl P Ugd Ugd SIE?

Person A travels thrice the distance Person C travels, which is also twice the distance
that Person B travels. C’s speed is 1/3 of A’s speed, which is also 1/2 of B’s speed. If
they start at the same time then who reaches first?

(A) A
(B) B
€ C
(D) GTATUIC/BothA&C

*hkkkhkkkikhkikkiik
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